
SAP ABAP table CRMT_PORTAL_LIST_BUSINESSACT {Hit List with Bus. Activities}

CRMT_PORTAL_LIST_BUSINESSACT

PARTNER_FCT [CHAR (8)]

CURR_PHASE [CHAR (3)]

SOURCE [CHAR (3)]

IMPORTANCE [CHAR (1)]

SALESCYCLE [CHAR (5)]

TYPE [CHAR (4)]

CUST_GROUP1 [CHAR (3)]

CUST_GROUP2 [CHAR (3)]

CUST_GROUP3 [CHAR (3)]

CUST_GROUP4 [CHAR (3)]

CUST_GROUP5 [CHAR (3)]

USAGE_TYPE [CHAR (3)]

REJECTION [CHAR (2)]

LEAD_TYPE [CHAR (4)]

QUAL_LEVEL_MAN [CHAR (2)]

QUAL_LEVEL_AUTO [CHAR (2)]

CRMC_CUSTGRP1

CLIENT [CLNT (3)]

CUST_GROUP1 [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-CUST_GROUP1 = CRMC_CUSTGRP1-CUST_GROUP1 

0..N

{0,1}

CRMC_CUSTGRP2

CLIENT [CLNT (3)]

CUST_GROUP2 [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-CUST_GROUP2 = CRMC_CUSTGRP2-CUST_GROUP2 

0..N

{0,1}

CRMC_CUSTGRP3

CLIENT [CLNT (3)]

CUST_GROUP3 [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-CUST_GROUP3 = CRMC_CUSTGRP3-CUST_GROUP3 

0..N

{0,1}

CRMC_CUSTGRP4

CLIENT [CLNT (3)]

CUST_GROUP4 [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-CUST_GROUP4 = CRMC_CUSTGRP4-CUST_GROUP4 

0..N

{0,1}

CRMC_CUSTGRP5

CLIENT [CLNT (3)]

CUST_GROUP5 [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-CUST_GROUP5 = CRMC_CUSTGRP5-CUST_GROUP5 

0..N

{0,1}

CRMC_CYCLE

CLIENT [CLNT (3)]

SALESCYCLE [CHAR (5)]

 CRMT_PORTAL_LIST_BUSINESSACT-SALESCYCLE = CRMC_CYCLE-SALESCYCLE 
0..N

0..N

CRMC_LEAD_QL

CLIENT [CLNT (3)]

QUAL_LEVEL [CHAR (2)]

 CRMT_PORTAL_LIST_BUSINESSACT-QUAL_LEVEL_AUTO = CRMC_LEAD_QL-QUAL_LEVEL 
0..N

0..N  CRMT_PORTAL_LIST_BUSINESSACT-QUAL_LEVEL_MAN = CRMC_LEAD_QL-QUAL_LEVEL 0..N

0..N
CRMC_LEAD_TYPE

CLIENT [CLNT (3)]

LEAD_TYPE [CHAR (4)]

 CRMT_PORTAL_LIST_BUSINESSACT-LEAD_TYPE = CRMC_LEAD_TYPE-LEAD_TYPE 

0..N
0..N

CRMC_OPPIMPOR

CLIENT [CLNT (3)]

IMPORTANCE [CHAR (1)]

 CRMT_PORTAL_LIST_BUSINESSACT-IMPORTANCE = CRMC_OPPIMPOR-IMPORTANCE 

0..N

0..N

CRMC_OPPT_TYPE

CLIENT [CLNT (3)]

TYPE [CHAR (4)]

 CRMT_PORTAL_LIST_BUSINESSACT-TYPE = CRMC_OPPT_TYPE-TYPE 

0..N

0..N

CRMC_PARTNER_FCT

CLIENT [CLNT (3)]

PARTNER_FCT [CHAR (8)]

 CRMT_PORTAL_LIST_BUSINESSACT-PARTNER_FCT = CRMC_PARTNER_FCT-PARTNER_FCT 

0..N

0..N

CRMC_PHASE

CLIENT [CLNT (3)]

PHASE [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-CURR_PHASE = CRMC_PHASE-PHASE 

0..N

0..N

CRMC_REJECTION

CLIENT [CLNT (3)]

REJECTION_CODE [CHAR (2)]

 CRMT_PORTAL_LIST_BUSINESSACT-REJECTION = CRMC_REJECTION-REJECTION_CODE 

0..N

0..N

CRMC_SOURCE

CLIENT [CLNT (3)]

SOURCE [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-SOURCE = CRMC_SOURCE-SOURCE 

0..N

0..N

CRMC_USAGE

CLIENT [CLNT (3)]

CALL_USAGE [CHAR (3)]

 CRMT_PORTAL_LIST_BUSINESSACT-USAGE_TYPE = CRMC_USAGE-CALL_USAGE 

0..N

{0,1}


